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A bowl contains 36 colored beads all of the same size: some blue, some green,

some red, and the rest yellow. A bead is drawn from the bowl without looking.

Ihe probability that it is blue is —. How many blue beads are in the bowl?
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Four students watched the traffic passing their school for 1 hour.

The table shows what they saw:

Type of Vehicle Number
Cars 60
Bicycles 30
Buses 10
Trucks 20

Each student drew a graph to show the results. Which graph shows the results
correctly?
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Ron
Ruth

Pete
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Number of Tickets

Kate, Ron, Ruth, and Pete sold tickets for the school concert.

The graph shows the number of tickets each sold.

Two people together sold the same number of tickets as Kate sold.
Who were they?

Answer: and

Code | Response | Item: M042250
\ Correct Response
10 | Ruth and Ron

Incorrect Response
79 | Incorrect (including crossed out, erased, stray marks, illegible, or off task)

_‘ Nonresponse
99 | Blank
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The results of a survey of 200 students are shown in the pie chart.
Popularity of Rock Bands

Red Hot Peppers 25%

Dreadlocks 30%

Stone Cold 45%

Make a bar chart showing the number of students in each category in the pie
chart.

Popularity of Rock Bands
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Code I Response ] Item: M042220
’ Correct Response
20 | All three correct - (50, 90, 60)
50 should be to the correct line.
90 should be less than 100 but greater than 80.

60 should be less than 70 but greater than 50.

‘ \ Partially Correct Response

10 | Any two correct

| . Incorrect Response

70 | Bars drawn as percentages not actual numbers

79 | Other incorrect (including crossed out, erased, stray marks, illegible, or off task)

| | Nonresponse
99 | Blank
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